EARAROBEEIERT — 2 N— IBISH —F

20155F9H 220 (:K) 6EIAEFI1H

4R WZEX) A

2557 L3 34K

‘ [R1%] & ‘ [REBB] — | & (&) 14000 B

[A~&£] 1 7% :1,100,000  ~ 23 :330,000 W 37 :187,000 F

4 7% 143,000 B 53 : 110,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N el F A :30. 02— . — gz (J118)
2le| 95157 3 2 1(3_0)2 2-2-2-1 | 39.3 1 27) il
R:T7Ta1743IVF—- BV AT UTo il=Eryec]
. # 3 | BOLH 1:30.2 4-4-4-3 [ 39.0| — 5 464 | WIEE (1)
] 4| Fn-—H> 56.0 (NF) (5 | @) FTut—s2
o140 B:IXT7HUIA BELTINIT7—L
R BRE 2 . 10-9- - EHES (#318)
al1lq|vEr>x hy 7 3 s 1(73(1):)2 11-10-9-7 | 37.9 6 (4_5;4) it
RV~ t574L B:Fv—3I FXvi WA BEE
— i S # 3 | RiitR 1:30.4 5-6-6-5 |38.8| — 7 429 | AREEHE ()
4|5|5| 7171+ —d—JLK %53.0 ) @7 | R rzRTEE
LZAFAI—ILK B: 7Y ex0-7> PN Yie]
. S o3 | BEEY :30.4 7-7-5-6 |38.8| — 4 479 | WAZ (fa4E)
EH 6l EU—/NTIL 56.0 ) oy | 114015
L:HILhFr—b B:O-Uxv b plit e
Ry . 3 | FHEfE— 1:30.6 —3-3-4 . = 2 474 | W GEFN)
61811 IHISTLF # 56.0 (1) s %6 (-6) KR
R:IM>FE2T71 B:Ry bLFa FH XF
= 3 N 4 3 | HHHER 1:30.7 8-9-11-8 |38.1| — 9 500 | R=3 (&)
7178 &2HZ7¥—7Lv b 56.0 (1/2) (a) | ETELE
RF v TTLRT—Y Bik—U—4FH¥— R/ E77—L
7 S8 S O 3 | EEH- :30.7 1-1-1-2 [40.1| — 3 507 | NARE GAFN)
sz /-7 —~ra~ 5.0 (") (o) | WA
LTIy 84K BiLAsK -2y FEALTHI 77— L
o . BEEXEH 131, -5-7- . - R (AAfE)
N - APERIZE 3 &5 1(361)9 6-5-7-10 | 40.3 8 :1:524) el &
LHAIL bF = BIVLNTOF— HhEFHTT— L
=5 4 3 | HiEIHE 1:31.9 10-11-10-11{ 39.3 | — 11 470 | PEARIERS (AN
1010 72rYAl %.0 (75%) o) |MEEH
L:IXF 4 XN BRI #Et /—Xex
. . ER b . _Q_a_ — BO—RFR (#F0)
M - e 4 3 e 173%:5) 9-8-8-9 | 40.0 10 <4+759) bdni)
LNNVTTY BTL—hE Y — ZRANY =T 4 =L K7 7 — Ltk
@ 1 — S —EBlIEf
13=7r= 2,9,11,4,5,7,6,8,3,10,1
2a=7r= 2,9,11,4,7,5,6,3,8,1,10
Jol=5r= 2,9,11,4,6,5,7,3,1,10,8
40—+ — 9,2,4,11,5,6,1,8,3,7,10
[ N3
BB 9 130H4 714K 4-9 620M % E 4-7 1,580 3EHE 1-4-9 5,360/
8 B 9 110 1-9 560M B 7-4 1,900 K31 9-4-1 17,440H
4 310 1-4 2,770 B E 4-9 1,590
1 370M B H 9-4 1,920

ABICOVWTRDTEEERROODE. TR LIV,




